Form 603

Corporations Act 2001 Section 671B

Notice of initial substantial holder

To Company Name/Scheme	JAPARA HEALTHCARE LTD
ACN/ARSN/ABN	54 168 631 052

1. Details of substantial holder (1)

Name JPMorgan Chase & Co. and its affiliates ACN/ARSN (if applicable) NA

The holder became a substantial holder on 01/10/2021

2. Details of voting power

The total number of votes attached to all the voting shares in the company or voting interests in the scheme that the substantial holder or an associate (2) had a relevant interest (3) in on the date the substantial holder became a substantial holder are as follows:

Class of securities (4)	Number of securities	Person's votes (5)	Voting power (6)
Ordinary 14,214,628		14,214,628	5.32%

3. Details of relevant interests

The nature of the relevant interest the substantial holder or an associate had in the following voting securities on the date the substantial holder became a substantial holder are as follows:

Holder of relevant interest	Nature of relevant interest (7)	Class and number of securities
J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Purchase and sales of securities in its capacity as Principal/Proprietary	14,214,624 (Ordinary)
JPMORGAN CHASE BANK, N.A.	Purchase and sales of securities in its capacity as Principal/Proprietary	4 (Ordinary)

4. Details of present registered holders
The persons registered as held The persons registered as holders of the securities referred to in paragraph 3 above are as follows:

	Holder of relevant interest	Registered holder of securities	Person entitled to be registered as holder (8)	Class and number of securities
)	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Ecapital Nominees Pty Ltd	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	14,214,624 (Ordinary)
	JPMORGAN CHASE BANK, N.A.	JPMORGAN CHASE BANK, N.A.	JPMORGAN CHASE BANK, N.A.	4 (Ordinary)

5. Consideration

The consideration paid for each relevant interest referred to in paragraph 3 above, and acquired in the four months prior to the day that the substantial holder became a substantial holder is as follows:

Holder of relevant interest	Date of acquisition	Consideration (9))	Class and number of securities
		Cash	Non-cash	
See Appendix				

6. Associates

The reasons the persons named in paragraph 3 above are associates of the substantial holder are as follows:

Name and ACN/ARSN (if applicable)	Nature of association
J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Subsidiary of JPMorgan Chase & Co.
JPMORGAN CHASE BANK, N.A.	Subsidiary of JPMorgan Chase & Co.

7. Addresses

The addresses of persons named in this form are as follows:

)	Name	Address
	JPMorgan Chase & Co.	383 Madison Avenue, New York, New York, NY, 10179, United States
	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	LEVEL 18, 83-85 CASTLEREAGH STREET, SYDNEY, NS, NSW 2000, Australia
)	JPMORGAN CHASE BANK, N.A.	1111 Polaris Parkway, Columbus, Delaware, OH, 43240, United States

Signature

print name	Irfan Khan	capacity	Compliance Officer	
sign here	David	date	05/10/2021	

DIRECTIONS

- If there are a number of substantial holders with similar or related relevant interests (eg. a corporation and its related corporations, or the manager and trustee of an equity trust), the names could be included in an annexure to the form. If the relevant interests of a group of persons are essentially similar, they may be referred to throughout the form as a specifically named group if the membership of each group, with the names and addresses of members is clearly set out in paragraph 7 of the form.
- (2)See the definition of "associate" in section 9 of the Corporations Act 2001.
- See the definition of "relevant interest" in sections 608 and 671B(7) of the Corporations Act 2001. (3)
- The voting shares of a company constitute one class unless divided into separate classes.
- The total number of votes attached to all the voting shares in the company or voting interests in the scheme (if any) that the person or an associate has a relevant interest in.
- The person's votes divided by the total votes in the body corporate or scheme multiplied by 100.
- Include details of:
 - any relevant agreement or other circumstances by which the relevant interest was acquired. If subsection 671B(4) applies, a copy of any document setting out the terms of any relevant agreement, and a statement by the person giving full and accurate details of any contract, scheme or arrangement, must accompany this form, together with a written statement certifying this contract, scheme or arrangement; and
 - any qualification of the power of a person to exercise, control the exercise of, or influence the exercise of, the voting powers or (b) disposal of the securities to which the relevant interest relates (indicating clearly the particular securities to which the qualification applies).

See the definition of "relevant agreement" in section 9 of the Corporations Act 2001.

- If the substantial holder is unable to determine the identity of the person (eg. if the relevant interest arises because of an option) write "unknown".
 - Details of the consideration must include any and all benefits, money and other, that any person from whom a relevant interest was acquired has, or may, become entitled to receive in relation to that acquisition. Details must be included even if the benefit is conditional on the happening or not of a contingency. Details must be included of any benefit paid on behalf of the substantial holder or its associate in relation to the acquisitions, even if they are not paid directly to the person from whom the relevant interest was acquired.

TRADES FOR RELEVANT I	PERIOD						Appendix
Transaction D	ate	Entity	Product Type	Type of Transaction	Quantity	Price (AUD)	Consideration
Balance at start of releva	ant period 2-Jun-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	1,379,754 (504)	1.10 \$	554.40
	2-Jun-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	7,307	1.11 \$	
	2-Jun-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(12,863)	1.11 \$	
	3-Jun-21 3-Jun-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Buy Sell	296 (513)	1.13 \$ 1.11 \$	
	3-Jun-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(10,000)	1.11 \$	11,133.08
	3-Jun-21 3-Jun-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy Sell	13,749	1.11 \$ 1.11 \$	
	4-Jun-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Buy	(23,341) 950	1.11 \$	
	4-Jun-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(494)	1.13 \$	555.86
	4-Jun-21 4-Jun-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Sell Sell	(4,186) (4,706)	1.12 \$ 1.13 \$	
	4-Jun-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	3,763	1.12 \$	4,220.22
	7-Jun-21 7-Jun-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell Sell	(532)	1.18 \$	
	7-Jun-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Buy	(4,000) 32,105	1.17 \$ 1.18 \$	
	7-Jun-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(2,096)	1.18 \$	
	8-Jun-21 8-Jun-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Sell Sell	(562) (4,000)	1.17 \$ 1.17 \$	
	8-Jun-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	4,000	1.19 \$	
	9-Jun-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	883	1.18 \$	
	9-Jun-21 9-Jun-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Sell Buy	(570) 6,034	1.18 \$ 1.18 \$	
	9-Jun-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(5,407)	1.18 \$	6,353.23
	10-Jun-21 10-Jun-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Sell Buy	(573) 6,792	1.18 \$ 1.18 \$	
2/0	10-Jun-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(2,135)	1.18 \$	
(U/J)	11-Jun-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	901	1.19 \$	1,067.69
	11-Jun-21 11-Jun-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Sell Buy	(586) 3,400	1.18 \$ 1.18 \$	
	11-Jun-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(26)	1.18 \$	30.68
	15-Jun-21 15-Jun-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy Sell	1,092 (620)	1.25 \$ 1.26 \$	
	15-Jun-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Buy	88,542	1.26 \$	
	15-Jun-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(76)	1.27 \$	
	16-Jun-21 16-Jun-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Sell Buy	(607) 796	1.26 \$ 1.27 \$	
	16-Jun-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(12,524)	1.26 \$	15,728.18
	16-Jun-21 17-Jun-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy Sell	29,155	1.26 \$	
(++)	17-Jun-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Buy	(603) 1,071	1.24 \$ 1.26 \$	
	17-Jun-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(4,816)	1.25 \$	
	18-Jun-21 18-Jun-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Buy Sell	1,223 (650)	1.24 \$ 1.24 \$	
	18-Jun-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(1,000)	1.26 \$	
	18-Jun-21 18-Jun-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy Sell	171 (51,616)	1.24 \$ 1.28 \$	
	21-Jun-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Buy	1,692	1.28 \$ 1.27 \$	
	21-Jun-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(634)	1.25 \$	
	21-Jun-21 21-Jun-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Buy Sell	5,215 (4,491)	1.25 \$ 1.25 \$	
	22-Jun-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(601)	1.24 \$	
(A)	22-Jun-21 22-Jun-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Buy Sell	1,315 (3,275)	1.26 \$ 1.24 \$	
$\mathcal{O}_{\mathcal{O}}$	22-Jun-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(10,949)	1.24 \$	
	23-Jun-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	870	1.24 \$	
	23-Jun-21 23-Jun-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Sell Sell	(636) (2,000)	1.24 \$ 1.24 \$	
	23-Jun-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(15,840)	1.24 \$	19,690.02
	24-Jun-21 24-Jun-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Sell Buy	(642) 6,198	1.24 \$ 1.25 \$	
	24-Jun-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(12,338)	1.24 \$	
	25-Jun-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(603)	1.24 \$	747.72
	25-Jun-21 25-Jun-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Sell Buy	(5,113) 1,226	1.28 \$ 1.25 \$	
	28-Jun-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(619)	1.26 \$	779.94
	28-Jun-21 28-Jun-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Sell Buy	(2,000) 21,504	1.29 \$ 1.30 \$	
	28-Jun-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(1,930)	1.27 \$	
	29-Jun-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(623)	1.27 \$	
	29-Jun-21 29-Jun-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Sell Buy	(5,000) 5,522	1.28 \$ 1.28 \$	
	29-Jun-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(6,759)	1.28 \$	
	30-Jun-21 30-Jun-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Sell Sell	(649) (3,000)	1.27 \$ 1.28 \$	
	30-Jun-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(2,583)	1.28 \$	3,293.64
	30-Jun-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	7,195	1.27 \$	
	1-Jul-21 1-Jul-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Sell Buy	(2,000) 6,287	1.25 \$ 1.26 \$	
	1-Jul-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(14,653)	1.26 \$	18,416.75
	2-Jul-21 5-Jul-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Buy Buy	19,379 3,836	1.26 \$ 1.25 \$	
	6-Jul-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	1,761	1.26 \$	2,218.86
	6-Jul-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	19,730	1.25 \$	
	6-Jul-21 7-Jul-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Sell Buy	(571) 2,282	1.26 \$ 1.26 \$	
	7-Jul-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(845)	1.25 \$	1,055.29
	7-Jul-21 7-Jul-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Sell Buy	(3,600) 10,070	1.25 \$ 1.25 \$	
	8-Jul-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	2,612	1.26 \$	
	8-Jul-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(2,000)	1.25 \$	
	8-Jul-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(8,683)	1.25 \$	

	PERIOD						Appendix
	9-Jul-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(2,779)	1.25 \$	3,473.75
	9-Jul-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	3,132	1.27 \$	3,970.29
	12-Jul-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	116	1.28 \$	148.48
	13-Jul-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	2,555	1.25 \$	3,193.75
	13-Jul-21 13-Jul-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell Sell	(3,000) (12,365)	1.25 \$ 1.26 \$	3,761.89 15,518.08
	13-Jul-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Buy	227	1.26 \$	284.89
	14-Jul-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(2,413)	1.26 \$	3,028.32
	14-Jul-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	950	1.26 \$	1,197.00
	15-Jul-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(3,708)	1.25 \$	4,652.21
	15-Jul-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	7,349	1.26 \$	9,238.97
	16-Jul-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(4,000)	1.26 \$	5,021.17
	16-Jul-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(6,145)	1.26 \$	7,735.20
	16-Jul-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	1,600	1.26 \$	2,016.00
	19-Jul-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	5,000	1.24 \$	6,200.00
	19-Jul-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(1,000)	1.24 \$	1,242.74
	19-Jul-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(1,262)	1.24 \$	1,566.99
	19-Jul-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	4,371	1.25 \$	5,451.25
()	20-Jul-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(5,000)	1.23 \$	6,125.00
	20-Jul-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(35,903)	1.21 \$	43,509.34
	20-Jul-21 21-Jul-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	1,373	1.20 \$	1,640.7
	21-Jul-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell Buy	(12,995)	1.20 \$ 1.20 \$	15,564.1
	22-Jul-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	1,258	1.20 \$ 1.17 \$	1,509.6 7,046.7
	22-Jul-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Buy	(6,000) 3,213	1.17 \$	3,762.82
	22-Jul-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(24,044)	1.17 \$	28,211.6
MU	23-Jul-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(13,000)	1.15 \$	14,955.3
	23-Jul-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(2,244)	1.15 \$	2,583.60
10	23-Jul-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	4,032	1.15 \$	4,656.1
	26-Jul-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(9,000)	1.16 \$	10,435.18
UIJI	26-Jul-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(11,919)	1.16 \$	13,843.53
	26-Jul-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	22,705	1.16 \$	26,366.4
	27-Jul-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(5,000)	1.38 \$	6,875.00
	27-Jul-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(8,000)	1.38 \$	11,034.48
	27-Jul-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	32,425	1.38 \$	44,723.45
	27-Jul-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(20,314)	1.38 \$	27,943.29
	28-Jul-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(340)	1.38 \$	469.53
	28-Jul-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(4,518)	1.38 \$	6,238.60
	29-Jul-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	489,998	1.38 \$	678,466.42
	30-Jul-21 30-Jul-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	7,048	1.38 \$ 1.38 \$	9,743.86 676,405.98
	2-Aug-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Buy Buy	489,998 8,453	1.38 \$ 1.38 \$	11,686.27
ADI	2-Aug-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(79,931)	1.38 \$	110,304.78
	3-Aug-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	1,000	1.38 \$	1,382.67
7	3-Aug-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(38,134)	1.38 \$	52,624.92
	3-Aug-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	500,000	1.38 \$	690,690.00
	4-Aug-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	15,427	1.38 \$	21,327.83
	6-Aug-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	17,059	1.38 \$	23,584.07
	11-Aug-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(6,000)	1.38 \$	8,284.85
	12-Aug-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	17,724	1.38 \$	24,503.43
	12-Aug-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(13,000)	1.38 \$	17,949.98
	13-Aug-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	16,021	1.38 \$	22,149.03
	13-Aug-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(12,572)	1.38 \$	17,350.27
	16-Aug-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(13,479)	1.38 \$	18,612.05
$2\langle \alpha \rangle$	17-Aug-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(21,904)	1.38 \$	30,256.96
(-//-)	17-Aug-21 18-Aug-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy Buy	499,998 11,948	1.38 \$ 1.38 \$	691,247.24 16,518.11
$\mathcal{O}_{\mathcal{O}}$	18-Aug-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Sell	(45)	1.38 \$	62.08
7	19-Aug-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	12,063	1.38 \$	16,646.94
	20-Aug-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	11,207	1.38 \$	15,465.66
	23-Aug-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	9,205	1.38 \$	12,702.90
	23-Aug-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	1,593	1.38 \$	2,197.65
	24-Aug-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	8,066	1.38 \$	11,151.25
	24-Aug-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	48,524	1.38 \$	66,942.06
	25-Aug-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	7,740	1.38 \$	10,681.20
	25-Aug-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	56,128	1.38 \$	77,432.28
	26-Aug-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	7,613	1.38 \$	10,505.94
	26-Aug-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	393,755	1.38 \$	543,171.63
	27-Aug-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	8,381	1.38 \$	11,544.83
	30-Aug-21 31-Aug-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	7,205	1.38 \$	9,924.89
		J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	8,539 142,000	1.38 \$	11,741.13
7	31-Aug-21 1-Sep-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy Sell	142,000 (170)	1.38 \$ 1.37 \$	195,250.00 233.33
	1-Sep-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Buy	9,336	1.37 \$	12,930.36
	2-Sep-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	10,811	1.39 \$	12,930.30
	3-Sep-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	9,880	1.38 \$	13,634.40
	3-Sep-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(192)	1.38 \$	264.00
						2.55 ψ	
				Buv		1.38 \$	289.794 H
	3-Sep-21 6-Sep-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Buy Sell	210,548 (171)	1.38 \$ 1.38 \$	289,794.06 235.98
	3-Sep-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity		210,548		
	3-Sep-21 6-Sep-21 7-Sep-21 7-Sep-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Sell	210,548 (171)	1.38 \$ 1.39 \$ 1.39 \$	235.98 12,239.25 276,998.62
	3-Sep-21 6-Sep-21 7-Sep-21 7-Sep-21 8-Sep-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity Equity	Sell Buy	210,548 (171) 8,837	1.38 \$ 1.39 \$ 1.39 \$ 1.39 \$	235.94 12,239.25 276,998.66 13,536.45
	3-Sep-21 6-Sep-21 7-Sep-21 7-Sep-21 8-Sep-21 8-Sep-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity Equity Equity Equity Equity Equity Equity	Sell Buy Buy Buy Buy	210,548 (171) 8,837 199,999 9,756 594,461	1.38 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$	235.96 12,239.25 276,998.62 13,536.45 823,328.45
	3-Sep-21 6-Sep-21 7-Sep-21 7-Sep-21 8-Sep-21 8-Sep-21 9-Sep-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity Equity Equity Equity Equity Equity Equity Equity	Sell Buy Buy Buy Buy Buy	210,548 (171) 8,837 199,999 9,756 594,461 10,859	1.38 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$	235.90 12,239.21 276,998.62 13,536.41 823,328.44 15,039.72
	3-Sep-21 6-Sep-21 7-Sep-21 7-Sep-21 8-Sep-21 8-Sep-21 9-Sep-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell Buy Buy Buy Buy Buy Sell	210,548 (171) 8,837 199,999 9,756 594,461 10,859 (241)	1.38 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$	235.9 12,239.2 276,998.6 13,536.4 823,328.4 15,039.7 333.7
	3-Sep-21 6-Sep-21 7-Sep-21 7-Sep-21 8-Sep-21 8-Sep-21 9-Sep-21 10-Sep-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell Buy Buy Buy Buy Sell Buy	210,548 (171) 8,837 199,999 9,756 594,461 10,859 (241) 9,819	1.38 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$	235.90 12,239.21 276,998.6. 13,536.41 823,328.41 15,039.77 333.71
	3-Sep-21 6-Sep-21 7-Sep-21 7-Sep-21 8-Sep-21 8-Sep-21 9-Sep-21 10-Sep-21 10-Sep-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell Buy Buy Buy Buy Buy Sell Buy Buy	210,548 (171) 8,837 199,999 9,756 594,461 10,859 (241) 9,819 3,873,288	1.38 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$	235.9 12,239.2 276,998.6 13,536.4 823,328.4 15,039.7 333.7 13,648.4 5,364,503.8
	3-Sep-21 6-Sep-21 7-Sep-21 7-Sep-21 8-Sep-21 8-Sep-21 9-Sep-21 10-Sep-21 10-Sep-21 13-Sep-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell Buy Buy Buy Buy Buy Sell Buy Buy Buy Buy Buy Buy Buy Buy	210,548 (171) 8,837 199,999 9,756 594,461 10,859 (241) 9,819 3,873,288 9,492	1.38 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$	235.9 12,239.2 276,986 13,536.4 823,328.4 15,039.7 333.7 13,648.4 5,364,503.8
	3-Sep-21 6-Sep-21 7-Sep-21 7-Sep-21 8-Sep-21 8-Sep-21 9-Sep-21 10-Sep-21 10-Sep-21 13-Sep-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell Buy Buy Buy Buy Suy Sell Buy Buy Buy Buy Buy Buy Buy Buy	210,548 (171) 8,837 199,999 9,756 594,461 10,859 (241) 9,819 3,873,288 9,492 1,929,509	1.38 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$	235.9(12,239.2) 276,989.6 13,536.4(823,328.4(15,039.7) 333.7(13,648.503.8(13,193.8) 2,662,722.4(
	3-Sep-21 6-Sep-21 7-Sep-21 7-Sep-21 8-Sep-21 9-Sep-21 9-Sep-21 10-Sep-21 13-Sep-21 13-Sep-21 14-Sep-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell Buy Buy Buy Buy Buy Buy Sell Buy Buy Buy Buy Buy Buy Buy Buy	210,548 (171) 8,837 199,999 9,756 594,461 10,859 (241) 9,819 3,873,288 9,492 1,929,509 8,167	1.38 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$	235.9(12,239.2: 276,998.6: 13,536.4: 823,328.4: 15,039.7: 333.7: 13,648.4: 5,364,503.8: 13,193.2: 2,662,722.4: 11,352.1:
	3-Sep-21 6-Sep-21 7-Sep-21 7-Sep-21 8-Sep-21 9-Sep-21 9-Sep-21 10-Sep-21 13-Sep-21 13-Sep-21 14-Sep-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell Buy Buy Buy Buy Buy Sell Buy Buy Buy Buy Buy Buy Buy Buy Buy Sell	210,548 (171) 8,837 199,999 9,756 594,461 10,859 (241) 9,819 3,873,288 9,492 1,929,509 8,167 (237)	1.38 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.38 \$ 1.38 \$ 1.39 \$	235,9 12,239,2 276,998.6 13,536.4 823,328.4 15,039.7 13,648.4 5,364,503.8 13,193.8 2,662,722.4 11,352.1 327.0
	3-Sep-21 6-Sep-21 7-Sep-21 7-Sep-21 8-Sep-21 9-Sep-21 9-Sep-21 10-Sep-21 10-Sep-21 13-Sep-21 13-Sep-21 14-Sep-21 14-Sep-21	3.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell Buy Buy Buy Buy Sell Buy	210,548 (171) 8,837 199,999 9,756 594,461 10,859 (241) 9,819 3,873,288 9,492 1,929,509 8,167 (237) 41,075	1.38 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.38 \$ 1.39 \$	235.9(12,239.86) 13,536.4(823,328.4(15,039.7(333.7(13,648.4(5,364,503.8(13,193.8(2,662,722.4(11,552.1(327.0(56,888.8
	3-Sep-21 6-Sep-21 7-Sep-21 7-Sep-21 8-Sep-21 9-Sep-21 9-Sep-21 10-Sep-21 13-Sep-21 13-Sep-21 14-Sep-21 14-Sep-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell Buy Buy Buy Buy Sell Buy Buy Sell Buy Buy Buy Buy Buy Buy Buy Buy Buy Sell Buy Sell	210,548 (171) 8,837 199,999 9,756 594,461 10,859 (241) 9,819 3,873,288 9,492 1,929,509 8,167 (237) 41,075 (40,000)	1.38 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.38 \$ 1.39 \$ 1.38 \$ 1.39 \$ 1.38 \$ 1.39 \$ 1.38 \$	235.9(12,239.86 13,536.4(823,328.4(15,039.77 333.7(13,648.4(5,364,503.8(13,193.8(2,662,722.4(11,352.1(327.0(56,888.8(55,400.00
	3-Sep-21 6-Sep-21 7-Sep-21 7-Sep-21 8-Sep-21 9-Sep-21 9-Sep-21 10-Sep-21 10-Sep-21 13-Sep-21 13-Sep-21 14-Sep-21 14-Sep-21	3.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell Buy Buy Buy Buy Sell Buy	210,548 (171) 8,837 199,999 9,756 594,461 10,859 (241) 9,819 3,873,288 9,492 1,929,509 8,167 (237) 41,075	1.38 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.39 \$ 1.38 \$ 1.39 \$	235.9(12,239.2' 276,998.6: 13,536.4' 823,328.4' 15,039.7' 333.7' 13,648.4' 5,364,503.8(13,193.8) 2,662,722.4' 11,352.1:

ADES FOR RELEVANT PERIOD						Appendix
16-Sep-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	5,513	1.39 \$	7,649.29
16-Sep-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(18,594)	1.39 \$	25,799.18
16-Sep-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	13,931	1.39 \$	19,294.44
16-Sep-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(5,513)	1.39 \$	7,649.29
17-Sep-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	4,355	1.39 \$	6,042.56
17-Sep-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(231)	1.39 \$	321.09
17-Sep-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	23,430	1.39 \$	32,450.55
20-Sep-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	2,888	1.39 \$	3,999.88
21-Sep-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	3,883	1.39 \$	5,387.66
21-Sep-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	13,389	1.39 \$	18,543.77
21-Sep-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	580	1.39 \$	803.30
21-Sep-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	72,306	1.39 \$	100,143.81
22-Sep-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	170,655	1.39 \$	236,357.18
23-Sep-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(429)	1.39 \$	594.17
23-Sep-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	222,870	1.39 \$	308,674.9
24-Sep-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	5,269	1.39 \$	7,297.5
24-Sep-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(589,964)	1.38 \$	814,150.3
24-Sep-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	3,257	1.38 \$	4,502.8
24-Sep-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	495,097	1.38 \$	684,471.6
24-Sep-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	740	1.38 \$	1,023.0
27-Sep-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(35,823)	1.38 \$	49,525.3
27-Sep-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	10,809	1.38 \$	14,958.4
27-Sep-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	3,074	1.38 \$	4,254.0
27-Sep-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	17,973	1.38 \$	24,872.5
28-Sep-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(155,246)	1.38 \$	214,951.2
28-Sep-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	1,960,000	1.39 \$	2,717,314.6
28-Sep-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(66,285)	1.39 \$	92,136.1
29-Sep-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(103,192)	1.38 \$	142,662.9
29-Sep-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(11,181)	1.39 \$	15,541.5
30-Sep-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(107,029)	1.38 \$	147,901.9
30-Sep-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	288,504	1.38 \$	399,058.7
30-Sep-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	49,418	1.38 \$	68,354.9
30-Sep-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(1,810)	1.39 \$	2,515.9
1-Oct-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(107,029)	1.38 \$	147,700.0
1-Oct-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buv	200,000	1.38 \$	276,500.0
1-Oct-21	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	1,000,000	1.38 \$	1,380,000.0
1 00.21		/	55,	14,214,628	1.50 4	2,550,500.0